Name ______________________________

Seeing Structure in Expressions (A.SSE.3c)

A worker earned a 2% increase in her annual salary for each of 4 years. She plans to continue working in her position for an additional n years. If she continues to earn a 2% increase in her annual salary, which statement describes the expression that can be used to calculate the total percent increase in her annual salary from the first year to the last year?

	Statement
	Yes or No
	Explain your thinking

	The expression can be used because 




	
	


	The expression can be used because 




	
	


	The expression can be used because 
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	The expression can be used because 
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